atl1*CurMon:Entry$

atl1*CurMon

run8026 000 at atl1.png

00 350

450
Entry$

x10°

9000

8000

7000

6000

5000

4000

3000

2000

1000

atl1*CurMon {ErrorFlag==0}

evilree

Entries 184854

Mean 3.942

Std Dev  0.03128

~]—

-

3.8

l
3.8

5 3.9 3.95 4
atl1*CurMon

10000

5000

asym_atl1/ppm:pattern_number {ErrorFlag==0}

5000
B R Lo e L0 x X
WX
E i e et
10000 —
| et
I T T
0 20 40 60 80 100

pattern_number

x10°

asym_atl1

= Entries 46192
500

i Mean -4.699
450~ Std Dev 1563
400 :_ Underflow 5091

i Overflow 5093
350 |J
300~
2501
200

=1 | | | | I I | I I | L 1 1 1 | L 1 1 1 | I I

-3000 -2000 —1000 0 1000 2000 3000
ppm




atl2*CurMon:Entry$ atl2*CurMon {ErrorFlag==0} asym_atl2/ppm:pattern_number {ErrorFlag==0} asym_atl2

c 7 - - Entries 46192
S - evilree ' 135} '
= . 40000, " - _
= -
) 10000 _ - o - Mean 18.88
N 6 B Entries 184854 300005 2 . SERVE I . & 130
= : P s S i o B o : SDev 1726
i Mean 5.098 ELLTIT - ! . 1051 i
8000— 20000 : Jl b Underflow 1.746e+04
j Std Dev  0.2223 100001 1200y ‘1 Overflow 17516404
6000 H H H H 15E | Nl “”Lf “l
- i 1101 : I
4000~ 100004 - _ | (L
- 20000(H | | _ 1057 dn [
I LU Il L LSl sl 1 J
2000~ 230000 ¥ é}: i KA MM MMM o 1007 1
L . MM g HooX X HH MM MK L
L 3 ot ot ot |
i - X GG, 8 95—
B 40000 — - -
s H‘IUS Dlll ||I _III|III|III|III|III|IK‘IDS _IIII|IIII|IIII|IIII|IIII|IIII
) 300 350 400 450 4 4.5 5 5.5 6 0 20 40 60 80 100 -3000 -2000 -1000 0 1000 2000 3000
Entry$ atl2*CurMon pattern_number ppm

run8026 000 at atl2.png



atr1*CurMon:Entry$ atr1*CurMon {ErrorFlag==0} asym_atr1/ppm:pattern_number {ErrorFlag==0} asym_atr1

i thTre e - 400F Entries 46192
i 15000 — x - o
B B % - Mean -13.87
100007 Entries 184854 e X Sy S . 3 380
- 100005 s>y £ £ T Bod [x 360 StdDev 1633
i Mean 5.885 L TITT I TT-oT T T B |
8000 - o0l 3a0f- - Underflow 7979
i Std Dev  0.07222 : as0b- d _ L Overflow 7783
R e ¢ = |
i - 300
4000 —20001 280~
I 1L L Ll L | Le Ly Ll 2601 : :
_ T0000f P ol kLS
2000 — B LA o HE # ﬁ}{}{ #
||l| “ B - " y . v 240
|||N ' 15000 x ool Uil
H‘IUE D_Illllll_L IIII|IIII|IIII|IIII|I |IIII B l 1 l | 1 l l | l l 1 | l 1 l | 1 l l | l H‘IDS :I L1 | | L 1 1 | | L1 1 | | I | | I I | | I 1 1 1
00 350 400 450 54 55 56 57 58 59 6 6.1 0 20 40 60 80 100 -3000 -2000 -1000 O 1000 2000 3000
Entry$ atr1*CurMon pattern_number ppm

run8026 000 at atrl.png



atr2*CurMon

atr2*CurMon:Entry$

:h'
n

-

O a
2 =

NilY
i 00 350 40C

450
Entry$

run8026 000 at atr2.png

x10°

atr2*CurMon {ErrorFlag==0}
evilree
10000 Entries 184854
Mean 3.232
8000
Std Dev 0.2052
6000
4000
2000
DI IIIII|IIIIII |III|III|
2 22242628 3 323436 38 4 42 44

atr2*CurMon

60000

40000

20000

20000

40000

60000

asym_atr2/ppm:pattern_number {ErrorFlag==0}
X
- X X
3 X M RN o XX
X P o % M MK
B ERX MK XX HHX X XXX XX X
b TN KX T TTTTT|TT

pattern_number

N S
% ok
p p
l 1 l | 1 l l l
80 100

x10°

asym_atr2

= Entries 46192
100 B Mean -60.8
- Std Dev 1729
90 j i Underflow 1.927¢+04
: [ ] ) -L Overflow 1.93%9e+04
80 J — -
il
70 l J " ' l
LA I |
60— |
B L1 1 1 | | I I | | L1 1 1 | | I O | | L1 1 1 | | I I |
—3000 2000 —1000 0 1000 2000 3000
ppm




asym_atll

asym_atl2

asym_atrl

asym_atr2

run8026 000

I —{a5¢
0.01—
i —{a0¢
- —{35¢
0.005
i —{30¢
D -
-0.005 |
-0.01-
. =
I | | 1 | 11 | | | 1 | | | | | 1 | | | | | | |
—0.01  -0.005 0 0.005 0.01
asym_atll
- —asc
. 0.04F
- - —40(
0.03F
- —35(
0.02 "
- u —{30¢
0.01F I
0
-0.01F
—po2f "™
-0.03
~0.04F
[ 11 | | l 1 | l l | l | l l l | | l l l l | l
—0.01  -0.005 0 0.005 0.01
asym_atl
0.0151 —50¢
0.01
- —{a0¢
0.005
- 30¢
D -
0.005 20(
~0.01
- 10(
0.015F
B 11 | 1 1 11 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 D
—0.01  -0.005 0 0.005 0.01
asym_atll
- 0051 0 —as(
i - .
0.04 A 40
- —{35¢
0.02}-
D -
-0.02\—
[ =
004 ™
| O
~0.06{—
1 1

—D D1 D GIDE 0. DIDE 0. D‘I

asym

asym_atl2

i —a5¢
0.01—
i —a0¢
- —35¢
0.005
| —30¢
ol 25(
- 200
_0.005— 15¢
| 10(
-0.01 _— 50
_I | L1 11 | L1 11 I L1 11 | L1111 | L1111 | L1 11 | L1 11 I L1 11 | (I | D
—0.04-0.03-0.02-001 0 001 0.02 0.03 0.04
asym_atl2
. 0.04F —400
0.03 —35¢
0.021— —30¢
0.01—
O
-0.01F
—n.oz2
- 10¢
-0.03
. 50(
—0.045
B | L1 11 | L1 11 I L1 11 | L1111 | L1 11 | L1 11 | L1 11 I L1 11 | [ | D
T0.04-0.03 002001 0 001 002 003 0.04
asym_atl2
0.015F- U
0.01—
- —la0¢
D.D{IE:—
- 30¢
D |
-0.005 :— 20¢
—0.01
- 10¢
-0.015F
B | L1 11 | L1 11 I L1 11 | L 111 | L1111 | L1 11 | L1 11 I L1 11 | 11 D
0.04-0.03-0.02-001 0 001 002 003 0.04
asym_atl2
. 0.06
' i —10¢
0.04
0.02 i
ol 60C
-0.021~ 40(
_0.04—
- 200
—0.06—
_I | L1 11 | L1 11 I L1 11 | L 111 | L1111 | L1 11 | L1 11 I L1 11 | 11

- —{50¢
0.01—
n —a0c
0.005
| 30(
|:|_
I B
i ..: 200
0.005—
— [ |
- 10¢
—0.01— o
I B
_I | | L1 1 1 | | I . | I L1 11 | L1 11 | L1 11 | L1 11 I | D
—0.015 —0.01 0005 0 0.005 001 0.015
asym_atri
- —s0¢
. 0.04F
0.03
. —a0¢
0.02
u.m:— 300
O
—0.01= 20(
-0.02
- 10€
-0.03F
—n.m‘—
B | | L1 1 | | | I | I | | | I | | L1 11 | | I | I |
00156 —0.01 —0005 0 0005 001 0015
asym_atr1
i — —50(
0.0151 M
D.ﬂ‘l:— —a0c
D.D{IE:—
- 30(
ol
—D.D{}E:— 20
—0.01
- 10¢
-0.015F
B | | I | | | I | I | I | | | I | | L1 11 | | I | I |
0016 —0.01 —0005 0 0005 001 0015
asym_atri
. 0.06
| - —50¢
0.04
- —la0¢
0.02
oL = 30(
_0.02 20(
_0.04—
. 10¢
= [ ]
—0.06— .
_I | | | I | | | I | I | I | | | I | | L1 11 | | I | I |

at mutual”correlation-COE.Z.png =~

X —40(
0005 _|a5¢
|:|_
~0.005
~0.01- 50
_IlIIIIIIIlIIIlIIIlIIIlIIIlI D
-0.06 -0.04 -002 O 002 004 0.06
asym_atr2
. D.04F
0.03F- 10
0.02
- —80(
0.01—
0
-0.01F
-0.02
-0.03
~0.04F-
_I|IIIIIIIlIIIlIIIlIIIlIIIlI
-0.06 -0.04 -002 O 002 004 0.06
asym_atr2
0.0151 D
§ —50(
0.01
- —la0c
0.005-
ok
-0.005F
[ =
-0.01— ™
o015 |
_I|IIIIIIIlIIIlIIIlIIIlIIIlI D
-0.06 -0.04 -002 0 002 004 0.06
asym_atr2
}_7 — —45(
| D.06F
. [ —40(
0.04— —|a5¢
0.021 o0
D_
~0.02—
_0.041
: 50
~0.06—
_I|IIIIIIIlIIIlIIIlIIIlIIIlI D

-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2



asym_atll

asym_atl2

asym_atrl

asym_atr2

run8026 000

w2/ ndf 33.85/38 )
p0  -4.277e-07 + 3.426e-07 __;—‘
p1 0.9991+ 0.0002
|:| |
-0.005 E
~0.01 -
| 1 I_ | 1 | | | | | | 1 1 1 1 |
—0.01 —-0.005 0.005
¥% ! ndf 4559 / 38
p0 7.356e—06 + 4 408e—05
p1 0.8643 + 0.0202
Cor factor 0.2229 J[
i +++#HJ[ } V+-
o1
- hﬁg*”*
—0.01 W
o2 T
I N B i L1
—0.01 —-0.005 0.005
%2 [ ndf 24 | 38
p0 -3.2e-05 £ 1.5e-05
pi 0.1117 + 0.0069
Cor factor 0.0906
0.002— }
: ]
13 +
-0.002 1[ }
-0.004 —
i 1 | | 1 | | | | | | 1 1 1 | |
—0.01 —-0.005 0.005
¥% ! ndf 51.51 /38
pO 2956205 + 6.622e05
p1 1.421+ 0.030 J[ |
Cor factor 0.2427 b +++HH}
o *
- - n
-0.01F } Mﬁ”’f
- Jr{
-0.02 ]
-0.03
-0. m'—
L 11 L1 L1
—D m —-0.005 0. n::}5

asym

at mut

d

|

asym_atl2

¥ ndf 53.7 /40

p0 —6.3242—06 + 1.132e-05

p1 0.05654 + 0.00134

Cor factor 0.2229 P _

0.002+— HHM
: L H

D_ v{ + -
N } #Jr# - _
-0.002— ﬁ + _
R
-0.004— }[
TI|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
-0.04-003-0.02-0.01 0O 0.01 0.02 0.03 0.04
w2 [ ndf 45.63 / 40 =
p0 8.009e-07 +1.248e-06 __:"
p1 0.9991+ 0.0001
00T
0

-0.01F

-0.02- E

-0.03F 7

_D‘nq‘T_ll_llll|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
-0.04-003-0.02-0.01 0O 0.01 0.02 0.03 0.04

¥ ndf 52.53/ 40 -

p0 ~3.5842-05 + 1.360e—05

p1 0.1405 + 0.0016 *

Cor factor 0.4263 #}LH'}

0 _
N H et
-0.005- _Jr]l HH%

—-0.01—
;Illlll|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
-0.04-003-0.02-0.01 0O 0.01 0.02 0.03 0.04

¥* { ndf 49.55/ 40 -

p0 219405 + 2.233e-05 #4+'+ B

et

p1 1.427 + 0.003 Nl

Cor factor 0.9456

D_

-0.02—

- +_h_+++

-0.04— + +
i ++++
i Jr+Jr

-0.06H +
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

wcorre

lation-

it.png

asym_atrl

pO

¥/ ndf

3172733

—5.696e—06 + 1.160e-05

p1 0.06823 + 0.00424 q }
+ ﬂ#ﬂ
Cor factor 0.0806 M
= - WH}LI'IW

-0.002— Wl
[0

-0.004 —

-0.006—
_Il_lllII|IIII|IIII|IIIIIIIIIIIIII|II
-0.015 -0.01 -0.005 0 0.005 001 0.015

2 { ndf 17.19/ 33 -

p0 4.108e—05 + 4.120e-05

p1 1.272 + 0.015

Cor factor 0.4263 +H]L+ _H

0.01 ittt }

o ]
-0.01F h he
N w ﬁ

-0.02 T {

003
: |I_III|IIII|IIII|IIIIIIIIIIIIII|II
—D.ﬂ15 -0.01 -0.005 0 0.005 001 0.015

¥2 | ndf 38.17 /33 )

po 2.593e-08 £ 4.879e-07

p1 0.9987 + 0.0002
0
_0.005-
~0.01 &
-n.n15l o
B ||||||||||||||||||||I||||I|||||||
00156 —0.01 —0.006 0 0005 001 0015
¥2 / ndf 19.92 /33 ,
o0 7 508205 + 6.2656-05
p1 1.841+ 0.023
.I.
Cor factor 0.4107 ﬂh _{
B -I+++'|+-L|- |~
oL _
B + _H_'l'.FI-
—0.02 WILH*
_0.04 -
_Il_ll-l|||||||||||||||||I||||I|||||||

-0.015

-0.01 -0.005 O

0.005 0.01

0.015

%2/ ndf 30.65 /37
p0 —5.26e—06 + 1.13e-05 J[
p1 0.04145 + 0.00091 -
Cor factor 0.2427 + J[ -
. i |
' il
T
|
-0.002 |
[ k
-0.004 —
_II|III|III|III|III|III|III|I
-0.06 -0.04 -0.02 0 0.02 004 0.06
¥2 / ndf 51.79/37 o
.I.
p0 ~1.14e 05 + 1.49e 05 th_
£
p1 0.6272 + 0.0012 e
Cor factor 0.9456
00T
O
-0.01F
-0.02F -
DﬂEl: -I+#+
— . :— _—H:I.i:l'-l-
I
_Dlnq"l_lllll|III|III|IIIIIIIIIII|I
-0.06 -0.04 -0.02 0 0.02 004 0.06
¥/ ndf 453237 -
p0 —3.644e—05 + 1.380e05
p1 0.08914 + 0.00111
Cor factor 0.4107 *HHJ[HH -
D_
! H+ ﬂmh
o005 1 {}ﬂjf
[
-0.01—
:Illll|III|III|IIIIIIIIIII|I
-0.06 -0.04 -0.02 0 0.02 004 0.06
htemp
i Entries 46192
0.04—
i -1 Mean  1.639e-05
0.02—
i Meany 1.639e-05
o
i Std Dev 0.0144
-0.02— Std Devy  0.0144
~0.04| =
_0.06 .~
_II|III|III|III|IIIIIIIIIII|I

-0.06 -0.04 -0.02 0 0.02 0.04 0.06



asym_atll

asym_atl2

asym_atrl

asym_atr2

asym_atll

0.01— y

0.005

-0.005—

-0.01—

-0.01 —-0.005 0 0.005 0.01
asym_atll

asym_atl1l

. 0.04
0.03
0.02

0.01

-0.01

-0.02

-0.03

-0.04

=
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.01 —0.005 0 0.005 0.01
asym_atl1

asym_atl1l

0.015

0.01—

0.005—

-0.005—

_0.01F L EREETES

-0.015

-0.01 —-0.005 0 0.005 0.01
asym_atll

asym_atl1l

| 0.06—

0.04—

0.02—

-0.02—

-0.04—

-0.06—

run8026 000 asym at ”ﬁlutﬁﬂﬁlﬂ“t‘:orre

asym_atl2

0.01—

0.005

-0.005—

-0.01—

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atl2

asym_atl2

. 0.04
0.03
0.02

0.01

—-0.01
-0.02

-0.03

=
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.04
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—D.I’.'I-I-—D.EIH—D.I’.'IE—D.I’.'II 0 001 002 0.03 0.04
asym_atl?

asym_atl2

0.015

0.01—

0.005—

-0.005—

-0.01—

-0.015

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04
asym_atl2

asym_atl2

| 0.06—

0.04—

0.02—

-0.02—

-0.04—

-0.06—

ID-I- —-0,03g-0.02 -0.01 0.01 0.02 ,0.03 0.04

ation-scat.phg

asym_atrl

0.01—

0.005

-0.005—

-0.01—

-0.015 -0.01 -0.005 O 0.005 0.01 0.015
asym_atri

asym_atrl

. 0.04
0.03
0.02

0.01

-0.01

-0.02

-0.03

-0.04

=
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.015 -0.01 -0.005 O 0.005 0.01 0015
asym_atri

asym_atrl

0.015

0.01—

0.005—

-0.005—

-0.01—

-0.015

-0.015 -0.01 -0.005 O 0.005 0.01 0.015
asym_atri

asym_atrl

| 0.06—

0.04—

0.02—

-0.02

-0.04—

-0.06—

-0.015 -0.01 -0.005 O 0.005 0.01 0.015
asym_atri

asym_atr2

0.01—

0.005

-0.005—

-0.01—

-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2

asym_atr2

. 0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

=
T TTTT TTTT TTTI TTTT TTTT TTTT TTTI TTTT T
I I I I I I I I I

-0.06 -0.04 -0.02 0 0.02 004 0.06
asym_atr2

asym_atr2

0.015

0.01—

0.005—

-0.005—

-0.01—

-0.015

-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2

asym_atr2

| 0.06—

[ | _|""'
0.04—

0.02—

-0.02—

-0.04—

-0.06—

-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2




